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Physical Education
Paper 11

IHiReR forer
gyAutreht 11

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

GOl : A1 TAUCThAL T 99T (100) SgOARt U ol ofed. Yoish IeTen g (2)

Time Allowed : 120 Minutes]

U SRd. @d U Wi

[Maximum Marks : 200

1. Match A and B, and choose correct
option :

‘A’
(Olympic Year)
(1) 2012
(2) 2020
(3) 2024
(4) 2028
B’
(Host)
(z) Tokyo, Japan
(11) Paris, France
(z11)) London, England
(tv) Los Angeles, USA
Codes :

o 2 & @
A @) @) @) Gv)
B) @) @G @ (o)
© @O @ G G)
D) @ @ @) Gv)

1. A A0 B Seeal A0 Jg qai™
aer

‘A’
(arifeifoer =)
(1) 2012
(2) 2020
(3) 2024
(4) 2028
B
(3TTETSTER)
() <ifRar, SO
() 909,
(iii) @A, TAS
(iv) G TSAfe™, STHRER
Tehdieh :

1 @ B @
(A) @) @ @G Go)
B) @) @) @ (o)
©) @ @) Gv) @G
D) @ @ G Go)

[P.T.O.



The recreation process leads to :
(A) Having Fun

(B) Happiness

(C) Saving Money

(D) Socializing

Which one of the following is a social
reason that might affect
participation in physical activities ?

(A) Family

(B) Equipment

(C) Weather

(D) Facilities

Recreation is defined as :

(A) The process of giving new life
to something

(B) Bonding with mother nature

(C) Any process that is non-work
related

(D) Socializing with two or more
people

Countries that have organised both
Commonwealth and Asian Games :

(A) India
(B) Malaysia
(C) Indonesia

(D) Japan

JUN - 71220/I1—A

TR UfehdT el § |iEal 3d :
(A) |ST 0

(B) g

(C) T arem

(D) HHISTh IR

YRR SYHAT G FvgeR. aRomy
FHOM ISR RO HIOA 2

(A) Hd
(B) SUHIUl
(C) &M

(D) Hfaen
TR € 3™ uRwifog et ome ¢

(A) & Sfraq gl gishan
(B) fTErTel A0 S[@vR

(C) UM Foe Fgoiell Hfeman

(D) < feran 2T ke ARSI IR
TSI d SR Ve TS hetal
]

(A) ¥Rd

(B) AN

(C) seHferE

(D) U™




The state of mind body response to

a situation is :

(A) Stressor

(B) Stress

(C) Anxiety

(D) Stimulus

Super compensation means :
(A) Fatigue

(B) Second wind

(C) Adaptation to load

(D) Oxygen debt

In comparison to other growth stages,

infancy is more a period of :
(A) Fast growth

(B) Consolidation

(C) Mental development
(D) Social growth

How many verticals have been
created in Khelo India Programme
introduced by the Ministry of Youth
Affairs and Sports ?

(A) Ten verticals
(B) Eight verticals
(C) Twelve verticals

(D) Five verticals

JUN - 71220/I1—A

(A) AU Yerdieh

(B) quma

(C) femm

(D) “deh

YR HAOTHIE RS
(A) ghal

(B) ¥%e fae

(C) wRreft Sfesuft

(D) WUERE &S

AT TOAT SR M@ SUATIM Tl

Sl Al B hIATIET kel 3Tfereh
......... WH?[ 341%,.

(A) AT ST

(B) WaATRIomeT
(C) UHfge foemmramstt
(D) 9HIfSTeh TR

Tes ST T HRAHH HAATE R HHA
‘T sfean’ dnmmmE fohdt afdehe® daR
%ol Ifed ?

(A) <@ Afeha™
(B) T3 afdsha™

(C) 9 afdhe™
(D) 9= afdsha™

[P.T.O.



10. When catching a ball your hand

11.

12.

knows when to grasp because :

(A) Your parasympathetic nervous

system inactive

(B) Alpha waves are being
generated
(C) Participating muscle receive

efferent signals from the brain

(D) Afferent signals inform your
hand that the ball is about to

make contact

The connective tissues surrounding

the fibres or cell is.....................
(A) Perimysium

(B) Epimysium

(C) Endomysium

(D) Myofibrils

A minimal stimulus causes the
individual muscle fibre to contract
to the same extent that a stronger

stimulus does, this phenomenon is

(A) All or one law
(B) All or none law
(C) All law except one

(D) None law except one

JUN - 71220/I1—A

10. @€ HoQEl gHSA BAIG df shegl

11.

12.

THEIE § UMD hodd 2

(A) qH= sAf=sred] TEa s
STAUMTAT AT HEA HTH HEA

ST

(B) 3T¢h e IT-dqes

(C) HEUR Sfeiel o= HehdTJaR
T HeTes

(D) BTl g el IO Hehdieh Hifgdr
el g qo

T foha TRTHT SIS U-a Sdehi=AT TR

................... B

(A) HEEfEE

(B) foHmfTE

(C) TSHMEREH

(D) HETEEfsA

Tl med fhAE IR E g

faqera e faa gl TS wAra

T BId, o e BN :

(A) Td fopen wahren M

o~

BEE

(B) §d fohan shiva= el

(C) gaten fram whren =g

(D) wivid= Rl oM TenTell e




13.

14.

15.

The intensity of work load or oxygen
consumption in which anaerobic

metabolism 1is accelerated is

called.......cccooveevueennnne

(A) Aerobic threshold
(B) Anaerobic threshold
(C) Metabolic threshold
(D) Lactic acid threshold

Contraction of the.................. muscles
elevates the first two ribs to help

during inspiration.

(A) Sternocleidomastoid
(B) Trapezius

(C) Extensors to back

(D) Scalene

As the right ventricle contracts,
valve closes,
preventing blood from back flowing

to the atrium.
(A) Vena cava
(B) Tricuspid valve
(C) Bicuspid valve

(D) Pulmonary valve

13.

14.

15.
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FEAVRTA diadd feen grorarg=

SUYKIHeS AT THSTI=AHE R0l

(A) WIUER] IVRITS
(B) UIUETed IvEes
(C) TI3TT=d AVeleS

(D) TY A=A IveIeS

YITARTM I e Bl o

IAATITE  hTH
SIS T
(A) EAREmEEe
(B) fufge™

(C) Hréie v+
(D) ®hed

o
[

N N
hllUlenlens adlidl Scicl HAdle ol EE|

EISICISNIECS CIRSCIEcaiCIERCE RER

(A) T9em (31 <hre)

(B) e

(C) fegzat

(D) BEFRHRS SO afctehat

[P.T.O.



16.

17.

18.

In extremely hot weather, the fluid

needs of an active person increase

by about :

(A) 2 times normal
(B) 3 times normal
(C) 6 times normal
(D) 10 times normal

A calorie is equal to the amount of

heat required to raise the

temperature of one gram of water

1°C and that difference is precised

(A) 14.5°C-15.5°C
(B) 20.5°C-21.5°C
(C) 0°C-1°C

(D) 37°C-38°C

One of the following does not belong
to fatty acid........................

(A) Stearic acid
(B) Oleic acid
(C) Ascorbic acid

(D) Palmitic acid

16.

17.

18.
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AfaeIr 3901 gAHM, Tohameial sHate

ST TS YR fohdt JHmOMd oed 2
(A) SR FHEOTEAT GO
(B) 9= yHom=Ar faoge

(C) | M= YHUT=AT Helud

(D) MM YHIOM=AT Qalde

Teh U 90 d99H 1°C 7 STefauararst
AN S ol & Ueh shelll 39 @

(A) 14.5°C-15.5°C
(B) 20.5°C-21.5°C
(C) 0°C-1°C

(D) 37°C-38°C




19.

20.

21.

22.

Laboured breathing is known

(A) VO, max

(B) Dyspnea

(C) Vital capacity

(D) Second wind

FTA fibers are......cccccoecuereueene
(A) Oxidative

(B) Glycolytic

(C) Oxidative-Glycolytic

(D) Unclassified

Sideways bending of trunk is a

movement iN.......cceeeeeuueeeeeennnn..
(A)
(B)

Frontal plane and Sagittal axis

Sagittal plane and Transverse

axis

(C) Frontal plane and Transverse

axis
(D) Sagittal plane and frontal axis

The following bones form the elbow
joint :

(A) Scapula, Radius, Ulna

(B) Radius, Ulna, Humerus

(C) Ulna, Humerus, Scapula

(D) Humerus, Scapula, Radius

19.

20.

21.

22.
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(A) VO, wHme
(B) fesusrn

(C) |HEIEA HYehdl
(D) Teb-s fas

FTA dg 3 .
(A) frrefes

(B) TAFhIcTECH

(C) sffrrefesg—Tamentamaies
(D) SFeriieRtol

CERCIE GG i i Gl

T g

(A) <d Yddd 9 HSEe A&

(B) 99Fed Wadl & o9 378

(C) %ed Yad o IrEed Y

(D) IS9E¥EA 9dd d Thed Y

HIOE] Hie B ©eliel Brer=n sielel
Al

(A) hqa, Eiery, Sfe
(B) {Eierd, e, SHRY,

(C) 3T, BgHATH ThYe

(D) T, T, EIeY

[P.T.O.



23.

24.

25.

26.

In case of second class lever force

resistance arm.

(A) Shorter

(B) Longer

(C) Equal

(D) All of the above

The formula used for calculating

kinetic energy is.......ccccceeeeeeecnnnnnns
(A) mv

(B) mov?

(C) Y2 mv

D) Y mv?

m/s is the SI unit of....................
(A) Speed and velocity

(B) Speed, velocity and acceleration
(C) Speed, but not velocity

(D) Velocity, but not speed

Earth’s gravitational acceleration

(A) 3.14

(B) 14.28 m/s
(C) 9.81 m/s?
(D) 14.28 m/s?

23.

24.

25.

26.

JUN - 71220/I1—A

O YRR TRBHE TS & Ui

(A) Tt g o

(B) T, 9 & ©RU
(C) I, U1 ST AR
(D) o, 9O el AR

goae THcad U

(A) 3.14
(B) 14.28 m/s
(C) 9.81 m/s?

(D) 14.28 m/s?

10



JUN - 71220/I1—A

27. At the time of release of Discus : | 27. U8l HWEw=A Aoy :
(A) Centripetal force is more than (A) DS T HEFH Semie S
centrifugal force 3T
(B) Centrifugal force is more than (B) St arer SR sremien s
centripetal force ST
(C) Centripetal and centrifugal (C) FErETd 3 S 7 Y E
forces become zero
D) aXcTuht hIVIET
(D) None of the above D) el
28. Lift force created by spinning object 28. |“|’1'{°|')|HILC|0|{~<\'1)I:1)06 M .li QJRINEECIRED
is called........ovvvevvveeenennn. by e T S
(A) Newton’s Law (A) T3 frem
(B) Dalton Law (B) Sed T
(C) Magnus effect (C) H=g ufomq
(D) Buoyancy (D) &gt
29. Top spin causes.........cccceeeeeeeeennnnnn. 29. 2™ ﬁqqﬂ% """"""""""""" FiK]
(A) Decrease in height of bounce (A) IS I T
(B) Increase in height of bounce (B) SESHT I 9
(C) Decrease in speed after bounce (C) ISR TR T
(D) None of the above D) TEe B T
30. Range of motion of a joint is g, e = e wieATHe
measured by an instrument .\ - N - =
called elc1dlcl=l [ HIY1 <had Tfﬂ%f
(A) Pedometer (A) TS
(B) Goniometer (B) ThfefteR
(C) Accelerometer (C) STFEeRH
(D) Radar Gun (D) TR ™
11 [P.T.O.



31.

32.

33.

34.

In sports psychology, mental

practice means :

(A) Mental Planning

(B) Mental Rehearsal

(C) Mental Strategy

(D) Mental Image

Time perception is a..........cceveee....
(A) Psychomotor ability

(B) Fitness ability

(C) Motor ability

(D) Functional ability
Competition and cooperation is..........
(A) Biological motivation

(B) Psychological motivation

(C) Secondary motivation

(D) Social motivation
Encouragement by spectators is a:
(A) Social incentive

(B) Monetary incentive

(C) Reward incentive

(D) Social competitive incentive

31.

32.

33.

34.

JUN - 71220/I1—A

Hie] AMEIET AFEs Sd U

o N

(A) AFES A

(B) AMfg® W&

(C) wMfge SEvaHd]

(D) " FfaH

12



35.

36.

Attitudinal changes occur due to

(A) Cognitive learning

(B) Effective learning

(C) Affective learning

(D) All the above

Match List I with List II and select

the correct answer from the codes

given below :
List I
(1) Motivational theory
(2) Play theory
(3) Learning theory
(4) Personality theory
List II
(z) Psychoanalytic theory
(i1) Attribution theory
(zit) Social learning theory
(tv) Operant theory
Codes :
1 2 6 @
A) Guv) G @) @)
B) @ @) GG @)
(C) G G) @ (o)
D) @) @) Gv) )

JUN - 71220/I1—A

(A) A ST
(B) SiecHeh STEEl
(C) YEcHsh AT
(D) =’ |4t

36. Arg Siedl Jeodl :

et 1
(1) SO 3wt
(2) ST Iud
(3) IeHIF YU
(4) Al IO
e 10
(i) FAIfaRso SR
(i) TIOR3
(iii) HrHITSIR STeFH IO
(iv) UL YU
Hehdich :

1 @ 6 @
(A) Gv) @) @) @
(B) () Gv) i) Gi)
©) Gi) ) () (v)
D) G) @) (o) @)

13

[P.T.O.



37.

38.

In skill learning the information
processing model is comprised of four
components. Arrange them in

sequential order :

() Decision-making
(II) Input

(I11) Feedback

(IV) Output

Codes :

@A @O ada Jmn av
(B) I av) an @
© a @O av)
D) av) dm @O (I

Cognitive process consists of :
(I) Sensation

(II) Thinking

(III) Perception

(IV) Problem solving

Identify the correct sequence :
Codes :

A) D dII) dI) (Iv)

(B) D Iv) (@D
(C) Iv) (D dID (ID)
(D) (III) (I) (IV) ()

(III)

37.

38.

JUN - 71220/I1—A

IR STLFAMT AIfed! skl T
R HEHE GHEYT ST AT AT HHMN
oArdr

(1) foig =0
(IT) STARHROT

(I1D) Jeeeon
(IV) Wherd
Hehdleh :
@4
(1D (IV)
(D
(Iv) (1)

an dam av)

(D

(Iv) (III)
D dD

JATCHE Yfshad el ®eeh HHIfase
STHATT ¢

(D) e

(ID) feem Lo
(I11) Sraee]

(IV) 9& med
I wH esEl
Hehdich :
A) (D
(B) dn avy (IO
(C) av) I) (dII) D
(D) (III) (ID) (IV) (D)

(B)
()
(D)

(ID
(ID

(IID) (II) (IV)
(IIT)

14
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39. Match List I with List IT and select | 39. Jra e @@
the correct answer from the codes w I
given below :
List I M) 3o g THe
(I) Inverted U hypothesis (D)
(II) Aggression (I1D) g
(I1T) Leadership (IV) 9Tom
(IV) Motivation e 11
List II (1) Hued
(1) Achievement (2) TRIRTERIC
(2) Autocratic style (3) fEar
(3) Anxiety 4) e
(4) Instrumental HEdiE -
Codes : O 1D I av
(I dD dII) av) W D @ 3 @
Aa o @ G @ B @ 3 @O (@
B @ & @O @ © @ @O @ @
C 2 1 4 3
© @ v @ @ D B3 @ @ @
D 3 @ @ @ .
40. I, SR AT eveeevvveervneene 3
40. In the childhood, individual’s Afs wfad 2R,
behaviour is most influenced by :
. (A) HHST
(A) Community
(B) School (B) Teat
(C) Peer group €) & e
(D) Family (D) g
15 [P.T.O.



41.

42.

43.

Which of the following is not a
scheme program by SAI for sporting
talent ?

(A) NSTC
(B) SAG
(C) SGFI
(D) SPDA

Which of the following are the levels
of programmed instruction ?

(1)
(2)
3)
4)
Codes :

A) (D), (2), 3)

(B) (2), (3), (4)

© ), 4), (1)

D) (D), (2), 4)

Philosophy of Experimentalism has

Memory level
Understanding level
Observation level

Recollective level

given rise to :
(A)
(B)

The basic theory of curriculum

The of
curriculum

realistic theory

(C) The instructive theory of

curriculum

(D) The make shift theory of

curriculum

41.

42.

43.

JUN - 71220/1I—A
el gfawl e (HE) qRdE Qs
YITRTOT=l EeicTieh] ShIOTAT  FTSiT
et ?

(A) TILESHE

(B) THTS

(C) THSITHAT

(D) THYEY

TSR STISYMTS WGTeTih! v WX
e ?

(1) Hfa &1

(2) Y &R

(3) Titeor wR
(4) o @
SO

A) (D, (2), (3)
(B) (2), (3), 4)
) 3), @), (1)
D) (1), (2), (4)

JANTETRT=AT TERd ¢ W< 8N 2

(A) FAIHFHAT JAYd ST

(B) STIMEHATE IRdedR] STUi
(C) AIHFHAE IUQIMHS  STII

(D) AITHFHATAT & HITITH

ELLkil

16
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44. Which of the following was the first | 44. wouq: Mo STYfeh IRes Rreromen
to facilitate the introduction of
Modern Physical Education in TR T BT FHIRT el STle 2
schools ?
(A) The plan of physical education (&) S e
and recreation
(B) TAHIESIRE! UIodshd
(B) N.C.E.R.T. syllabus
(C) National Fitness Corps (C) T O <o
(D) National Policy of Education,
1986 (D) TS e A 1986
45. Activity based tools of teaching
are - 45. AT HiaIHRT HEA WefTeqshR
JRd
(1) Exhibition
(1) Y=
(2) Demonstration
(2) Yrcafan
(3) Slides - -
(4) Musical instruments W T ;
(56) Tours 5) 5
Codes : T
B (1), @), 3), @ A) (D, @, B, @
(B) (1), (2), (4), (5) B) (1), (2), (4), (5)
(C) (2), (3), 4), (5 (C) (2), (3), (4), (5)
D) ), (4), (5), (1) (D) (3), (4), (5), (1)
17 [P.T.O.



46.

47.

48.

Which of the following is an apex
body for promotion of sports in the

country ?

(A) LNCPE
(B) NSNIS

(C) Khelo India
(D) SAI

Which of the following is not

considered in lesson planning ?
(A) Age and sex

(B) Progression

(C) Warming up

(D) Teacher experience

Which of the following activities
emphasizes use of a locomotor

skill ?

(A) Galloping to music
(B) Catching a rolled ball
(C) Swinging from a bar

(D) Pivoting to catch a ball

46.

47.

48.
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TR Eeslell UIeaTed JUMR @efierdeh!
forer ween w2

(A) TETTTEHTE

(B) TITHUTSTETH

(C) Tl gfeam

(D) ¥

ECHCTUh! I a6 Jer=A1 e
Jq A ?

(A) T3 afor fam

(B) =t Soft

(C) 3IcISieh  BTeT=Te

(D) STEATIHRTET TS

qETdsh! HIVAT IUHH TR

HITI=AT ST’ R <4 ?

(A) T dree). TeAdiT o

(B) STesd 3TASAT Sfcd Siefol

(C) IRET Elehagul el Ho

(D) sifden sieA fegifen &
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49. Which one of the following is not a | 49. g—qﬁaﬁaﬁ 7T 1IUT€|'Ef qguret oL fam.
characteristic of an effective PE class SfeaTERoTET a2
climate ?
. (A) TR 0
(A) Providing feedback
(B) Giving freedom to choose (B) ‘{\Ef . 3:[ Frar=
designated learning task UM <Ed=
(C) Long waiting time (C) srd wfasm shreraret
(D) Small sided games (D) B e ©s
50. Match the List I with List IT and select | 50. =€t I & A€t 11 Jesod @ireilal faeie=n
the correct answer from the codes W T ST =y feer
given below : — .
List 1 - R
. cal _ (@) TIRTEHS hIl
D
(@) Developmental exercise ®) o
(b) Games
(c) dIcIslg ™M
(¢) Rhythmics
(d) STAT
(d) Aquatics ardt
List II . 11
(1) Lead up games L T
(2) Synchronised swimming @) e
(3) Yoga (8) =
(4) Skipping (4) SRE= IS
Codes : Tehdlioh
@ ® @ @@ (@ ©® @© @
A @ 1O @ 3 @ @ @O @ G
B @ 1O @3 @ B @@ @O 3 @
< 3 1 @ @ e 3 1 @ @
D 3 @ @2 @ O B @ 2 @
19 [P.T.O.



51.

52.

53.

What kind of health education shall

have ready acceptance and

voluntary following in all sections of

the society ?

(A) Theoretically strong health

education

(B) Government sponsored health

education
(C) A need based health education
(D) A well charted out health

education

Which of the following is not a
preventive approach for substance

abuse ?

(A) Legal

(B) Educational
(C) Communal
(D) Community

The inadequacy of which of the
micronutrients can lead to colour

blindness in the human beings ?
(A) Iodine

(B) Chlorine

(C) Vitamin-A

(D) None of the above

51.

52.

53.

JUN - 71220/I1—A

IO TOeed fyreronen gHIST= 9d

faumTqa 3R wishdl o U Tedws
faesd 2

(A) Tagifar asga @re e
(B) T{&R WEIfSa w@eed e
(C) RS 3eTRa Tareer faero

(D) TRl sifaerrgsd T fago

EoiTeTdeh] ShIvrdt 3Toe TR 2=

PINERIRECRE I | Fi B
(A) PRI

(B) werforen
(ORIHIRED

(D) wrETfash

I G&H UV SR ST
| T oSAgd I ?
(A) e

(B) =il

(C) SfferTara-31

(D) sedent HUEl el
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54. Which nutrients are essential for

55.

56.

growth and repair of muscle and
other body tissues ?

(A) Proteins

(B) Minerals

(C) Roughage

(D) Vitamins

Obesity does not cause :
(A) Infertility

(B) Malaria

(C) Diabetes

(D) Ischaemic heart disease

Health means maintaining..............

in some factors.

(A) Continuous movement

54.

55.

56.

JUN - 71220/I1—A

IV Areehaaes IR a1 ]
9 3 IAR el gl B ?

(A) "fo=

(B) @fs

(C) =i

(D) Siterer

(A) ST
(B) feaam™

(C) AYHE
(D) & el ged far

(B) Continuous balance (B) ¥dd gHdr
(C) Continuous priority (C) Tad WY
(D) Continuous modification (D) Haq TRedd
57. Name the disease which is 57 TSR SIS & e e
categorised as psychosomatic o - <
disease - qTIhd shell SIdl.
(A) Diabetes (4) =g
(B) Asthma (B) SteaHl
(C) Tuberculosis (C) werm
(D) Smallpox (D) ==
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58.

59.

60.

By what method do children, in the
first instance, acquire habits of

personal cleanliness ?
(A) Classroom instruction
(B) Interaction with peers
(C) Constant observation
(D) Literature study

Which of our needs does recreation

not satisfy ?

(A) Wealth need

(B) Need for affiliation
(C) Achievement need
(D) Aesthetic need

Which of the following activities

cannot be treated as recreation ?
(A) Collecting coins

(B) Angling

(C) Sitting

(D) Hiking

58.

59.

60.

JUN - 71220/I1—A

TR Toeare Fadl! STehMEs H3edl

TS ATy HHfase g ?
(A) T =
(B) frmweia Harg
(C) fitero wraew

(D) ITEHA AH

SRV ST TS FARSHRT Hed B
TEa ?
(A) FORT TS

(B) Herrepiumel TS
(C) IQm= RS
(D) SeATaTs T

e IGEEAE AL IR ERIC TSI B ESEIG

el BT IR AT 2
(A) ol TR

(B) A eRUATE! hHell
(C) =&Y

(D) ®IHIH
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61. Aim of sport training...................... 61. shiel TRT&Tome e
(i) Physical fitness or conditioning () IR ggear fehen Fheerdt
(i) Technical skill (i) TR R
(iti) Tactical efficiency ({ii) STEUARHE ST
(iv) Education (iv) fareqon
(A) () and (ii) (A) @) e (i7)
(B) (i), (i) and (iv) (B) (i), (i) U ()
(C) (@), (id), (iii) and (iv) (©) @), Gi), (iii) = (Gv)
(D) @), (i) and (i) D) @), i) =for (i)
62. Characteristic of sports training | 62. Il W&o Torfyrsesy ?
T 3TE.
(A) Planned and systematic (A) frafsra smfor wgaeii
(B) Demonstration (B) 9rcHfateh
(C) Participation (C) Hewm
(D) Doping (D) Eift
23 [P.T.O.



63.

64.

Match List A and B and select the
correct option from codes given below :

List ‘A’
(1
2)
3)
(4)

Weight training work-out
Cardio workout
Stretching workout
Holding

List ‘B’
() Core
@) PNF
(iit) Aerobic
(fv) Anaerobic
Codes :

L @ B @

(A) (v) @)
(B) @) @v)
(C) @) ()
D) @ @)

@) @)
@ @
) @)
@) (v)

Calculate the THR at 75% intensity
for a 22 year old handball player
whose RHR is 60 bpm and who
wants to perform 30 min cardio
activity.

(A) 150 bpm

(B) 163.5 bpm
(C) 161.5 bpm
D) 159.5 bpm

63.

64.

JUN - 71220/I1—A

ST A ST At B Sesd ST wetta
Hehdlehlqd arvg v e

Th
(1) ¥R gfneor
(2) wites =
(3) T W wE

L @ @ @

(A) (v) @)
(B) @) Gv)
(C) @) Gu)
D) @ )

@) @)
(@) @)
(v) @)
(@) (Gv)

22 9 SETA SUeAlal WareH faHdt
Il g4 X 60 3reh Ufd fafte o1ga
W 75% therad 30 fafTe wifesisusa
AT 3R, TS ST TSI ST 3.

(A) 150 3 ufd fafe

(B) 163.5 3 dfa fhaffe
(C) 161.5 2 dfa fhaffe
(D) 159.5 3k Ufa fhfe
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65.

66.

67.

The objective of flexibility training

is to improve the range of movement

(A) Agonist’s muscles
(B) Bulky muscles

(C) Protagonist muscles
(D) Antagonistic muscles

...................... form of training that is
most commonly used to improve

muscular strength and endurance.
(A) Plyometric training

(B) Core training

(C) Cross training

(D) Weight training

In training, load is not always given
for improvement but also for...........

of performance capacity.

(A) Conditioning

(B) Development

(C) Maintenance and stabilization

(D) Progress

66.

67.

JUN - 71220/I1—A

(D) sferfafes ¥\

Y Tehe AN SHERYUITEAT YOS
IYAME AT FAHTAT G TRr8707

(A) IR Fivnemo
(B) Tym gfyneror
(C) g Hieefor

(D) ¥R gfreor
FIRT&TOTHES, YR 8l ekl GEROEEH

R T A=A

feam S

(A) Fheerdt

(B) fasm

(C) Hivles T w4
(D) Wt
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69.

70.

........................ is the relationship
between load phases and recovery
phases.

(A) Load density

(B) Load frequency

(C) Load intensity

(D) Load volume

Causes of over-training.................
(I) Recovery is neglected

in

(II) Inappropriate increase

frequency of training
(ITI) Excess of competitions

(IV) Excessive bias of training
methods and units

(A) (III) and (IV)

(B) (D, (ID, (III) and (IV)

(C) D, (I and (III)

(D) (IV), dI) and (III)
........................ is an athlete’s ability to

choose and perform the right
technics, at right time, successfully

regularly with minimum of effort.
(A) Load

(B) Style

(C) Skill

(D) Judgement

68.

69.

70.

JUN - 71220/II—A
TR T 1o gAYl e A

1) YuiRe gad
(ID) 9f¥reror arReriad 3/ @ra o9%

I Tyt stfafaa g

(IV) H3TeToT Tt 3707 Seahifaret Higen
TG Jarsg eadon

(A) (D sufor (IV)

(B) (), D), (III) Afor (IV)

(C) (D), (1) =wfor (1I1)

(D) (IV), (II) emfor (II0)

g dedl, IRTHIC, A fhHm
TG ArE T3 Ferg S SvarH]

(A) ¥R
(B) SMeft
(C) ®IeH
(D) SIS
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71. Match the columns and select code : | 71. WY S A gehdieh THaer

List I
(1) Developmental research
(2) Longitudinal research
(3) Cross-sectional research
(4) Correlational research
List II

(i) Research that

relationships among variables.

explores

(i) Study of changes in behavior

acCross years.

(zii) Research in which the same
participants are studied over a

period of years.

w1
(1) foermrs SRieA
(2) J@EE Fened
(3) TR enEd
(4) TEHAYRHER ERIEH
w11
() fafay scmHia Seaey TevAmEe!
Thetel HNEA
(i) @ Foid BUMAT FdTAGATEl
Y

(i) SAH AT FTATEENT ThTd

yfqeeshiel shol SO T9NeM

(tv) Research in which samples of Gu) Tafay sErede giaaes ﬁqs‘;l
participants from different age IRt TR TR S S
groups are selected in order to o
assess effects of maturation. .

Hehdich :

Codes :

1 @ 3@ @ L @ B3 @

A) G) @) GiD) () (B @) () G) @

B) Gi) GiD) @) G) (B) @) @) () @

©) @ @ (@) (o) C) @ @ G (o)

D) @) @) @ (i) D) @) @) @ ()

27

[P.T.O.



72.

73.

A constant variable can take
values :

(A) Zero
(B) Fixed
(C) Not fixed
(D) Nothing

“In the thesis
introduction, the researcher takes

preparing

multiple sentences verbatim from
some of the sources.” In this case
researcher is :

(z) Wrong to do so

(i1)) Wrong even if the researcher
provides a reference at the end
of the paragraph

(z11) Right if the researcher provides
a reference and a citation

(tv) Right if the researcher gives
reference and the long
quotation is indented half an
inch from the rest of the text.

(A) Statements (z), (i) and (iii) are
true

(B) Statements (i), (ii) are true and
(zit), (iv) are false

(C) Statements (i), (i1), (fv) are true
and (iiz) is false

(D) Statements (i), (iz) are false and

(zir), (iv) are true

72.

73.

JUN - 71220/11—A
feor 9a o9 o9 o1Ed

(A) I
(B) faf¥=a

(C) AM=a
(D) e &

“EeieE geemEr gEareAn fatedr

HeNeeh A=A hIEl HeHiqd 31k forem

yTseyT:/adiad sial.’’ a1 wgHLd

RS ET o

() o™ IO T AR

(i) GINeehM Saara 3idr Hedl fae
TR 3T A0 Ih TR

(i) GINEHh™ Sa=amed e o=
Teodgeiael ¥ed 0 SRR 3

(iv) FeEeRT Tgo U1 snfor HeX saW

S SN[ 14 39 ST (@) Hied

fafenr

faum™ (), (i) 9 (i) T T8

(A)

(B) faum (1), (i) 93 3T & (iih), (iv)

ITH 3T

faum™ (@), (i7), (jv) I 3T 9 (47)
TG A®

faam (), (i) 39 3Rd 9 (iii),
(jv) T 3TRd

(&)

(D)
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74.

75.

76.

In SPSS which menu item contains
the split file and select cases

command ?

(A) Data menu

(B) Transform menu
(C) Analyze menu
(D) Variable menu

A form of research in which the
researcher attempts to understand
how one or more individuals

experience a phenomenon :

(A) Grounded theory
(B) Ethnography
(C) Case study

(D) Phenomenology

In a study, participants are recruited
from local schools in urban area. The
study is conducted on saturday so

only the saturday working school
take part. What type of sample is
this ?

(A) Cluster sample
(B) Stratified sample
(C) Random sample

(D) Convenience sample

74.

75.

76.

JUN - 71220/11—A
THITHTHE AL v HgHed fowre

FEd 9 hild HAS IS AT STHA ?

(A) =@ A=

(B) grawhid A
(C) SfreEs B
(D) =RTeer F

Teh fohal s =] @R T el

STMEA & THSTUATIIR! Shotedl ST
Tk

(A) T=IEE Ao

(B) TEHIUTHI

(C) =¥ w2l

(D) HATHAIATST

TehT HIMEAT T Wil e

e gfaureeni=i 9/ fers
HOA STl B AE Tl At
SH{UFTA STl THos AR =] STE=T
TS Ul B Ihedl. § IO
Y RN SSTEL0 3R ?

(A) T e

(B) &g =

(C) Igfosh =l

(D) eTshel e
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77.

78.

79.

Multistage cluster sampling is

helpful when :

(A) The population is widely

dispersed geographically

(B) You have limited time and

money to travel for research

(C) You want to use probability

sample in order to generalize

the results
(D) All of the above

A correlation of or around zero can
be interpreted as which of the

following ?

(A) A curvilinear relationship is

present
(B) A linear relationship is present

(C) It could mean either no

relationship or curvilinear one
(D) No relationship is present

Setting the P value at 0.01 increases

the chances of making a :
(A) Type I error

(B) Type II error

(C) Type III error

(D) None of the above

77.

78.

79.

JUN - 71220/I1—A

T T8 ARYH 9gd a1 IRiErda
SUGH 3T
(A)

Ariiferergsean faererel SHEeE
STHAH

(B) Jo=aTehe HAIfGd o 9 HRIEA
JATEEEST HAifeq ATfefeh s

YA

[ LN [aV o
(S Bl ATHI[en Ul enXUdldlol

TS ey IS ST
(D) aXicAtent |el

(&)

Hegay Yo T fha Y= sideeud

A e 1 w1 Bl ?
(A) TR Tay Al TR
(B) THINE HeY AR TR

(C) Ir=n 219 el oY el STE
IR oY ATEeedl

(D) HIVAET oY 3T@3d ATal

(A) 2RY 1
(B) 2rE9 II ¥
(C) <=9 III J2

(D) TeTUeh! hIUder Tal
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80.

81.

If the standard deviation of
population is 9, the population
variance 1is :

(A 9
(B) 3
C 21
(D) 81

Match the following physical fitness
components with their respective
test :

List I
(@)
)
(c)
d)

Cardiorespiratory fitness
Strength
Agility
Power
List II
Side step test
Medicine ball throw

(1)
(2)
3)
(4)
(5)
Codes :

(@)
A )
B) 5)
© @
D) 3)

Harvard step test
Pull ups
Bridge up

(b)
(1)
(2)
3)
(4)

(c)
(2)
4)
(2)
(1)

(d)
4)
(1)
%)
(2)

80.

81.

JUN - 71220/11—A
S YT famed 9 (7)™

SgE foged a8
(A) 9
(B) 3
) 21
(D) 81

qeial YRk ggedl Seehlal ATl

FHERAERE AT S Seodl :
RICUN |

BIERIFTERT ggedt

(b) €S

(c) Teemfumer

(d) i

(@)

et 11
qEE ¥ HERl
ofefaq dfa @
Bele W9 Rl
(4) 9 ™
(5) fersi 319
Hehdiah :

(@)
(A) (3)
(B) 5)
(C) (D
D) 3)

(1)
(2)
3)

(®)
(1)
(2)
3)
(4)

(c)
(2)
(4)
(2)
(1)

(d)
(4)
(1)
5)
(2)
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82. Select the correct answer from the

choice given below :

(I) Different activities in physical

education cannot be measured

objectively

(I) Rating scale defines a scoring

system to help make objective

evaluation more subjective

(A) Both (I) and (II) are correct

(B) (I) is correct and (II) is wrong

(C) (II) is correct and (I) is wrong

(D) Both (I) and (II) are wrong

JUN - 71220/I1—A

82. Wil TIAdA SAU=AT AT T

e &

D) I foemda fafay suwas

A0 S[T5eU0 & Iehd TRl

(D weff=Ea goft wursl S7eft Yok

Ul <ATHes I (T58 HTIHTIA

TS HIOIE HSd Bl

(A) T () smfor (1) § seR 3T’

(B) (I) SR 3T® W7 (1) I 3T

(C) (II) =R 3Mg Wi (1) ek 3T

(D) I (D) snfor (II) =9 TR
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83.

Below are the norms of Bent knee
sit ups. Measurement of 21-year men
is 31. What is the interpretation of
this measurement ?

Men
Age 10-19 20-29 30-39
Superior 61 Above Above 54 Above 51
Excellent 51-61 47-54 43-51
Good 47-50 42-46 39-42
Average 41-46 38-41 35-38
Poor 36-40 33-37 30-34

Very Poor Below 36 Below 33 Below 30

Women
Superior 54 Above Above 50 Above 41
Excellent 46-54 44-50 35-41
Good 36-45 38-43 29-34
Average 32-35 32-37 25-28
Poor 28-31 27-31 20-24

Very Poor Below 28 Below 27 Below 20

(A) Abdominal
endurance is average

(B) Abdominal
endurance is excellent

(C) Abdominal
endurance is very poor

(D) Abdominal
endurance is poor

strength and

strength and

strength and

strength and

JUN - 71220/I1—A

83. TeId witeshMY o T fesTd ®urR

e feelelt oTe. 21 a8 Jar= o
q9e 31 3T I S1effae=e &y

RA)
Eel 10-19 20-29 30-39
HEITI@Q 61 Above Above 54 Above 51
i 51-61 47-54 43-51
=T 47-50 42-46 39-42
HER 41-46 38-41 35-38
HHt 36-40 33-37 30-34
Ta HH Below 36 Below 33 Below 30

afget
'Hﬁﬁ@Q 54 Above Above 50 Above 41
Eiea 46-54 44-50 35-41
=T 36-45 38-43 29-34
HER 32-35 32-37 25-28
HH 28-31 27-31 20-24
Tu HHI Below 28 Below 27 Below 20

(A) TR diehe T SHSTUN HIeoy
38

(B) WieTdia drehg  STTTUT SHGIRYOT
ol T8

(C) dierdiel dmehe AUl AR T
ERINCI

(D) URMA dehg AT HERYON hHT
3T
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84.

85.

86.

The meaningfulness of a sports skill

test lies in its being :

(A)

Measured in a game like

situation
(B) Highly valid
(C) Extremely reliable
(D)

Representative of sport

When same test administered on
same sample by two different

administered is called.....................
(A) Validity

(B) Reliability

(C) Objectivity

(D) Norms

What do psychological tests attempt

to measure ?
(A) The total person

(B) Specific set of attribute of the

person

(C) Characteristics of psychic

nature

(D) All of the above

85.

86.

JUN - 71220/I1—A

HAYU WA HHSCA g
(A) weri oRfeerdt=e Ao
(B) =4 a9

(C) a1 forgerta

(D) Weerdt Gfdffer wTomT

SIegl Uehd hdle! Wohd =EINeR g
AT HAEATIRTHIh T efaeil ST
a@ o510 SRS 3@ TRV

(A) S

(B) favas=izan

(C) aEgfTea

(D) A eh

YFEITSTT el hid /9= 39

(A) Tqui =Rt
(B) =eiten Turgmten faftre 9=
(C) "Hfes WEN dfvmed

(D) =iertent Hel
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87.

88.

How well the item differentiates
between the good student and the

poor student is called......................
(A) Item discrimination

(B) Item difficulty

(C) Item revision

(D) Item consistency

What is the appropriate sequence of

administering psychomotor test ?

(1)

Develop a test schedule

2)

Interpret test result

(3) Provide all

necessary

equipments

Administer the test item

4)
Codes :

(@ ) (© (@

A @ QO @) O)

B) 3 @ @O @

© 1 3 @ @

D 1 & @ @

87.

88.
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TR forameft 9 wt IR foeneff ar=mg

yeq fordl =mTent fa=rar <vifadr <

(A) TN HSHTA&TH

(B) U3 SHIfSuIudes|

(C) 9Tl Gl

(D) YYATdA Hracd

e HERATT FTEAIT FHIAATET AT

%Y RV ?

(1) FHEeIS dBTh foehfad o)
(2) wHAeT= et 1dfd=m Lo
(3) MEwash ¥d Wifgey a0l

(4) FHHE FIEATT HI00

(@ () (@ (@

A @ @O @ 3

B3 @ @O @

© O 6 2 @

M 1 G @ @
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89.

90.

91.

Which of the following is not site for

skinfold measurement ?
(A) Subscapular

(B) Suprailiac

(C) Shoulder

(D) Abdominal

Which of the following is not
affecting measurement while

administering psychomotor test ?
(A) Clothes

(B) Scoresheet

(C) Subject’s emotional state

(D) Test knowledge

Which one of the following is an

example of a performance goal ?
(A) To win the competition

(B) To improve your technique
(C) To beat your personal best

(D) To please your coach

89.

90.

91.

JUN - 71220/I1—A

qeIadeh! IV SFT/HTT feRThiee
AAHY A& ?

(A) HIEhTeR

(B) QUEfeameh
(C) e

(D) Sfoeiyad

FF FHSITD FIEATTT HIAT]
EICTUShT ShITCT SIShTHT HTIFER TR
Bq e ?

(A) TR

(B) TUrasR
(C) foeneat=it wraftsr feerd
(D) HERNE IH

WUkl IV Th HEYSIH &
e ?

(A) Tyt SR
(B) Qe OF GURUAHIG!

(C) TTUeT Safedeh Halt® AT
UM

(D) ST W& HIe 0]
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92.

93.

The process of development of
strategy to achieve desired objectives
to solve problems and to facilitate

actions is known as :
(A) Organization
(B) Administration
(C) Planning

(D) Management

Which one of the following is an
example of a health and safety
consideration when setting up a

fitness test ?

(A) The same person records the
time taken to complete the test

by all the athletes

(B) The weight training equipment

is checked before being used

(C) Each person performing the test
is encouraged in exactly the

same way

(D) All those performing the test
should try to be the best
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94.

95.

96.

Which one of the following is an

example of an outcome goal ?

(A) A tennis player trying to

improve his serve

(B)

Trying to win a net ball match

against a local school

(C) A footballer trying to improve

her shooting technique

(D)

Trying to outwit an opponent
when passing the ball in
basketball

Total no. of matches in Round Robin

Tournament is found by :
(A) (N — 2)/2
(B) N(N - 1)
(C) N(N + 1)
D) (N + 2)/2

How many byes are allotted to 11

teams playing Round Robin

Tournament ?
(A) 15 Byes
(B) 6 Byes
(C) 8 Byes

(D) None of the above
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98.

99.

100.

(A) 40, 60, higher
(B) 5, 10, higher
(C) 5, 10, lower

(D) 40, 60, lower

Which of the following is not a
strategy for behaviour change in
school setting ?

(A) Behavior contract
(B) Token system

(C) Reprimands

(D) Behavior games

Geographical and climatic
conditions should be considered
when planning :

(A) Indoor activities

(B) Outdoor activities
(C) Child activities

(D) Old people activities

Throughout the history of sport
facility financing the money to build
facilities is wusually obtained
through :

(A) Taxes
(B) Bonds
(C) Corporate investment

(D) Facility revenues
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